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If so; let him combine and teach them — y72°10% 729293 9977 OR

OVERVIEW

The X773 asked that if we maintain that 2137 is 712, why did not the Xn>>72
combine the laws of 737371 72°wn by both a P»3 7 mn and state vaw 0w
A2 P P2 PR 2T Powin are anp.' Our Moo explains how we
initially understood the conclusion of the Xn»A72 (which states 1 7 77722)
when we assumed that 2127 is .‘L’ﬂp.2

mooIn responds to an anticipated question:3
—99N3 1°2 91X 122 NHININY NIPYUNI 2P 21997 PNYT RPHDT NI 299

According to what may have initially entered our minds that 2121 is 1p,
and the 2°11p of a7 ow» apply equally whether it is by a camel or a

donkey, we will be required to assume that when the Xn>>12 states -
9130 DIPHA 2197 IN NN P3P DIV S0IWNY NN 3P 1t 7702

‘They acquire it (only) in this manner’, this comes to exclude some other
1P (besides 771 72°wn 2137) that it is not effective, or alternately that it
excludes 2127 in conjunction with 3%73%; that the 2157 is not anp.*

SUMMARY
The words "1p 17 7712" can be excluding any 711 besides 72°wn ,2107 and
77A737; or it can exclude 27131 21pR2a 2100,

THINKING IT OVER

1. mooIn states that 1P 17 7712 excludes "R 112 2w'. How then did the X773
initially attempt to prove that 2137 is not 11 (since W1PINO 1P2YY),
perhaps 2197 is 7y and the Xn*2 is excluding A 13p aw'?!

2. How can nv01n claim that we exclude 31722 D192 2107; since we assume
now that 2127 is 7112, and NMOOIN just taught us® that PIp Svan PP PR?!

' See previous Twm "7 MOOMN.

* See 7"nx # 53 why the 71"7 is on "X when it should have been on the answer of 1312191 "5x7 7" &Y.

3 When the xn™92 stated 1P 7 7712 it is obviously excluding a 11p. How could have the & n3 assumed that
2107 is ANp, for then which 1Ip is the phrase, 13p 17 7712, excluding; since now we are also assuming that
77T 712°wn are 1R both by 5n3 and .

* Moo cannot say here that it excludes 2191 2p»2 37 for the Xn>12 mentions only that 277 is 71, and
not 2107.

> See min N
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